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1. R @Il 156t 2@ Tex fort 2x5=10

Answer any five questions :

(a) LPPI 32 @@ 3¢« w4t

Discuss the uses of LPP.
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Solve {using matrix mathod} @
x+y+2z=6
2x~-y+3z=9
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- Evaluate :

J1+2x =41-3x
Iim
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If y=2x+—£, prove that
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function  is
and

Prove that  the
continuous -~ at x=()

L] 1 3
discontinuous at x = 3

ay i
(iv) "d}i fadfy w1 v'e
dy
Find d; if
1. y=e*-2x* +logx

log x

e)t

2- y""
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(i) u=x?+2y? FOR I TG du
Ifereat |

For the function u =x?+2y?, ﬁnd"
the total derivative du.

w1zq / Or

(b) (i) I TE= A & @2
What do you mean by Total
differential?

5. (a) "(i)ﬂ“‘{“mmm%tmfrzsa
(i) u= z P (RIS TN ‘boﬁm . V ‘What is the cuﬁ'ere nce Det\‘:“ffax

simple interest and compou'xﬂ
FOrel g9l F4l | : ir_tte_rest?__ L T
Verify Euler’s theorem for. the
-y
x+y’

(i) a= m 36,000 5 T wEe
4%w$4l/2% mmwbm‘,
Pres e e o T TR @

9, 240%}%‘::@5{7-@5 Wf@
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function u =

BT W, OB fo, feys Sfuer Sow
& 239

A man lent < 36 OOO to two persan:q.
at 4% and 4% respecmety "ifter :
- 6 years, he received %9240 inall -
from them as interest. How much

If flx,y)=x3+ 3x2y +'3xy2 + y3 :
- did he lend to each of them"

a function, find f,, fuy, fyx, fyy-
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and ‘Nominal rate of Interest'?
What is the relation between -
effective  rate of interest and

(i)

(b}

(i)

s 1)

sl A W RN e’ [ apfad)
s aie A e WS SRco! sl )

Wh’al are ‘Effective rate of Interest’

nominal rate of interest?

fefn fafon srororgza R el 1)

Write in detail about various types
of Annuities,

1% / Or

fofiga s gen qfence fr 7619

What do you mean by present
worth of annuities?

(i) g boE qgfa 14.5% e & 4G

23/1148

“on a certain sum of money at

3 T UIF 4 Y4 9G4 LA “ldfa] 348 T

2, G sl Ry

’[‘he dtfferencc of simple interest

14.5% PA for 3 years and 4% years

 is % 348. Find the sum,

o Cohtinuéd )

(i) 44 6% enhﬁ:i‘; )jﬁ wﬁ m@m’?n Bl

6. (a')

P23/1148

(ai) 'ﬂ‘iﬁ 5% qu@; éﬁ ?}5
ﬁhﬁm i qum ;; 91 ﬁ’#

In whu@ ume w;li A given s
money double itself at ‘3% P
of mmpound lﬂl.al‘i‘hl?

I :»de fi'mn 7

CalculaLe
interest

tlw zmmmal
cmlverubla :

{i) LPP ® “cww ﬂmwﬁw@m ﬁm‘

in LPP

Write abqul uw ncseﬁsaily nf dll

(ii) LPP q sgﬁ,,w"mlg Mﬁm Goina

Write rhe ﬂabumplinna (7f ;m

(iii) S NI A cﬁnww AT Iaw n*,i L

et fmn 1

‘rate
ha!byﬁa
when th; cffective ram ls fr%p

fmr i

LI'P - b

Write phml naies on unlmundmj:’.; £

solutmn and lmsio taulwiml
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fiv) i wiwie &A1 LPP s Mg

f 52171 2
Solve w,mlnr,any (1he following LPF :,

gz et fdy @l (Maximize)

7 =10x; + 5Xg

: fprcpamwm, zmc

e (subject 10) ,
o rzr't xmx;me‘ art

2xy 4 Xy & 26
2}(1"‘." 4’JC2 < 56

X=Xy 25 gy | am | o
X1, X0 20 Product | Cutting | Fabrication | 4
B i L B
AZ41 / Or s N EET T T
,u'l'?l?i oso0t 18000
: i Available ] e b
(b) (i) A AfEE e AT A A
LPPa “fasa 57
Write the scope of LPP in solving e o
business problems. s

(i) LPPa Al sifefes =l faen i

Write the general mathematical
model for LPP.

(iii) LPPS taser duaamen fac )

Wrxte about the nccessrcy of duality
_in. LPP. :
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